STYKLISTE

MODEL BO4510

Side 1

Pos. Art.nr. Betegnelse Stk. Note
001 643552-4 KULHOLDER 5-8 (6410) 2
002 191627-8 KULSAT CB-64 1
003 210025-8 RILLEKUGLELEJE 627LLD 1
004 515123-6 ANKER (BO4510) 1 220V
INC. 3,7
005 181830-9 HUS ST (BO4510) 1
INC. 8,29
006 528113-0 FELT (BO4510) 1 220V
007 211092-6 KUGLELEJE 629DDW (3612C) 1
008 263002-9 GUMMISTIFT 4 1
009 815215-4 TYPESKILT BO4510 1
010 241652-0 VENTILATOR 65 (BO4510) 1
011 410918-1 HOLDER (BO4550) 2
012 155957-1 CLAMPER 2
013 911118-1 SKRUE M4x12 4
014 151232-3 GRUNDPLADE (BO4510) 1
015 263002-9 GUMMISTIFT 4 1
016 912112-6 SKRUE FLAKO M4X10 1
017 253825-3 UNDERLAGSSKIVE 6 1
018 211066-7 KUGLELEJE###(211087-9) 1
019 651600-5 AFBRYDER SS106A###(651603-9) 1
020 645105-5 KONDENSATOR###(645185-1) 1
021 682502-4 KABELBESKYTTER 8-85 1
022 666066-6 POWER SUPPLY CORD 1.0-2-2.5 1 220V
023 687031-2 KABELAFLASTNING (BO4510) 1
024 911133-5 SKRUE M4x18 (BO4510) 2
025 911188-0 SKRUE M4x60 1
026 911148-2 SKRUE M4x25###(911546-0) 1
027 911198-7 SKRUE M4x70 2
029 181830-9 HUS ST (BO4510) 1
INC. 5,8
030 321869-2 B@JLE BO4550) 2
400 794195-6 ABRASIVE PAPER SET 114X100 1




EKSPLOSIONSTEGNING

Side 1
MODEL BO4510




